=¥ A D1UAH—12 #EEFEE HE®5
1. LEEREFHER (#87TD)
(1) EnElE
iz ARIHEFNEE 2.9 A (0.87A) 5.8 A (1.74A) 8.7 A (2.61A)
1Kk (T2—1—-2) A A A
A
2Kk (T2—7—8) A A A
1R (T2—3—4) A A A
B
2,k (T2—9—10) A A A
1R (T2—5—6) A A A
C
2R (T2—11—12) A A A
B SERY-=3- ] | 0.827 ~ 0913 A 157 ~ 191 A 235 ~ 287 A
e R /NEBE=29A 2.9A X 30% (0.87A) D *=5%LIA
® HhDEFE=3.0~8.7A BFE(E X 30%ND+=10% LA
(2) Eh{ERERA B /. O FFENEE x 300% 2% (3[EAIE)
AFANAME A B Cc
1R ~ ms ~ ms ~ ms
2, ~ ms ~ ms ~ ms
H|FEEE 50msELTF
(3) tbE=45tE
1)LEHE=35%, 1 —2RERBEE=&/M. LAB200, 500%I-T. I, HEEBHREZIE. 1,>,)
BE LA7IN\%H A B o}
58 A A A A
5 9A (200%) ( %) | ( %) | ( %)
145 A A A A
(500%) ( %) | ( %) | ( %)
Y LAA= 58 A(200%) D, tt#&(1,1,)35.2 ~ 52.8 %
(FRREHH) IbLA1=14.5 A(500%) DFF. thZE(1,71,)31.5 ~ 385 %
2)kE#E=35%, 1 —2REFREE=HR/D. JAHN500%I-T, LBEEREZIE. 1,<I,)
BE I, AN\ A B C
145 A A A A
2.9A
(500%) ( %) | ( %) | ( %)
HERE (FRRESEF) LA71=14.5 A(500%) D, Lk (1,1,)31.5 ~ 385 %

CRIEARN]

AN TRER1,:T2—1-2)  2RER(1,:T2—7—8)
'B*Hs‘]’XEE,/JIL(I‘] T2—3—4), Z’XEE,/JIL(IZ T2—9—10)

CH.1XRERI,:T2—

[EE]
- (AU, LEE%ETRT,
L= L= |

5—6).2R&E

e (,: T2—11—12)

H# & # &% X

A

t
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12145
sample-2


xFF A

D1UAH—12 e

\

(LbS=45EahfR]

1200 —

50% 35%

1100 g ff”f
1000 /7”/ !iiilil
R / (, .
’7/
900 ~
- . 35%
= 1
800 % . iy /7/7
] - — o] 50%

700
(675)
600

500

400

300

200

100

[ [ [ [ [ [ [
100 200 300 400 500 600 700 800 900 1000 1100 1200

(TrvyE]
LN W/ ——
i CPU
r. _ 32t'yrRISC
p/ -
m HAP {8710 R
P Eaalil
IpB X 87TI
87TL
IpC 87TO
IsA
A/D
— —87TS ,
I\F/)I kY v 7
IsB X
IsC
T RAM
| M
i E*PROM 5 < EH v e
4 -« e e > L) 2
i ROM i) P o
| T1-4 N

TEST-M2239-R 4



12145
sample-2


= F A D1UAH—12 #EEFES #HEEE
2. lRIFER (#87TI)
(1) BEfE
+H ARIHEFNEE 2.9 A (29A) 5.8 A (58A) 8.7 A (87A)
1k (T2—1-2) A A A
A
2Kk (T2—7—-8) A A A
1R (T2—3—4) A A A
B
2,k (T2—9—10) A A A
1R (T2—5—6) A A A
C
2Rk (T2—11—12) A A A
B SERY-=3- i | 276 ~ 304 A 55.1 ~ 60.9 A 827 ~ 913 A
| FERAE BFEE X 1000% D +5%LIA
(2) ENfERER BE /. O-FENEE x 200% 2% (3[EAIE)
AN\ A B Cc
1R ~ ms ~ ms ~ ms
2k ~ ms ~ ms ~ ms
HEELE 30msLLT (60HzME#%) .~ 35mskLT (50Hz{E4R)

BHERKX= 4

TEST-M2239-R 4
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ZFF R D1UAH—12 BREES & sE =1
3. E2EHRINEIER (#87TL)
(1) &/IENEME SEEER 26%
8 ANIHFNEE 2.9 A (0. 87A)
1R(T2—1-2) A
( %)
A A
2Rk (T2—7-8)
( %)
1R (T2—3—4) A
( %)
5 A
2/ (T2—9—10)
( %)
1R (T2 —5—6) A
( %)
© A
2R (T2—11—12)
( %)

HIERE FRREHMA)

30%+5%(28.5 ~ 31.5.%) LIA

(2) SR HA : x/NEEME X 300% A A
iz ARIHEFNEE 2.9 A(8.7A)
1R (T2—1-2) %
A
2Kk (T2—7-8) %
1R (T2—3—4) %
B
2,k (T2—9—10) %
1R (T2—5—6) %
C
2Rk (T2—11—12) %

HERE GFRREHMA)

13*x2(11 ~ 15 )%LIA

(3) =HEMELFHE

AEBELNDMD2HIZ, ZNEN10%ERARESHSE TRET 5,

A ARIHEFENEE 2.9 A (87A)

A 1R (T2—1-2) %
2k (T2—7—-8) %

5 1R (T2—3—4) %
2/ (T2—9—10) %

o 1R(T2—5—6) %
2,k (T2—11—12) %

HERE GFRREHH)

ZI2f/ZNf=13x2(11 ~ 15 )% LA

H# & # &% X

A

t

TEST-M2239-R 4
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2= F A D1UAH—12 #EEFEE #HEEE
4. NEREBMBREBER (#87T0)
(1) B1EfE
iz ARIHEFNEE 29 A (8.7A) 58 A (17.4A) 8.7 A (26.1A)
A 1R (T2—1-2) A A A
=2k (T2—7—-8)
5 1R (T2—3—4) A A A
=2Kk(T2—9—10)
c 1R (T2—5—6) A A A
22K (T2—11—12)
B SERY-=3- | 827 ~ 9.13 A 16.6 ~ 182 A 248 ~ 274 A
| ERAE BFE(E X 300% D +5%LLH
(2) Bh{ERERE BE &/, 0=l =L, ATEMEE x 300% 2% (SEAIE)
AN\ A B C
1R =>2K ~ ms ~ ms ~ ms
HERAE 25msLiF
(3) tE &= 4514
1)tEE=35%, 1 —2REREE=R/MN LABS00%IZT. LEMEERMEZATE, U>L)
BE L AJIN\#8 A B Cc
145 A A A A
2.9A
(500%) ( %) | ( %) | ( %)
HIERE (FRIRESEF) LA7I=14.5 A(500%) DB, tLE(1,1,)9.28 ~ 13.92 %
2)tkE=35%, 1 —2REREE=&/N.LAN500%IT. ,HEEREZRE. 1<)
BE I, AJIN\\18 A B C
145 A A A A
2.9A
(500%) ( %) | ( %) | ( %)
HIEEE (FRBEEHE) LA71=14.5 A(500%) OB, Lk (1,1,)9.28 ~ 13.92 %

(AIEAAN]

AECIRER1:T2—1-2)  2REFR(1,: T2—7—8)

‘BHE.1RER(,:T2—3—4)  2REHK(,:T2—9—10)
«C#H8. 1fxﬁa,/m.(11 T2=5—6). Z’XEE,/JIL(IZ T2—11—12)

CEE] - ( YAIK, HEE%ZETRY,

L= L=, |

H# & # &% X

A

t
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xFF A

D1UAH—12 e

Jm
B
Jjn

5. ZH)EXR (#87TS)

(1) BEfE
iz ARIHEFNEE 2.9 A (0.783A) 5.8 A (1.566A) 8.7 A (2.349A)
1Kk (T2—1-2) A A A
A
2Kk (T2—7-8) A A A
1K/ (T2—3—4) A A A
B
2,k (T2—9—10) A A A
1K/ (T2—5—6) A A A
C
2Rk (T2—11—12) A A A
rRREEHE 0.744 ~ 0.822 A 1410 ~ 1.722 A 21115 ~2.583 A
e w=/NEE=209A 2.9A %X 27%(0.783A) D +=5%LLA
& HhDEFE=3.0~8.7A BEMEX27%D+10%LLA
(2) Eh{ERERA BE &/ O~ AT ENEE X 300% 2% (3[EIAIE)
AFANAME A B C
1R ~ ms ~ ms ms
2 ~ ms ~ ms ms
| EEE 30msBLTF

BHERKX= 4
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2 F B A D1UAH—12 EEx 5 & & =
[#BIEH]
1. &8
Ef E AFHE HIRE 8 HIFE B HIE
CT2R(A%E) mV VA
1R CT2Xk(B%8) 8.7 A 0.8 VA mV VA
CT2R(C#8) mV VA
CT2R(AFR) mV VA
2R CT2X&(B#H) 8.7 A 0.8 VA mV VA
CT2k(C#8) mV VA
I EIR 110 V 9 W mA W
HIEEE AHED110% LT
2. ERHFARER HIEHERAL. BT, LRICTHAEEZHERT 5, HIE
3. RHIEMERER AFIBEICTRER. ERHHEERT S, FIE
4. SUTTFRE SUTTAMITIARILRRERERT S, HIE
5 BEAKAR EREREERHEIME. ARSEICTEREDOENELHIE TS, FIE

H# & # &% X

A

t
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